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L. The diagram shows the processes of filtration and distillation.

(2)

®

(©

@

7060

thermometer

distillation flask

Label the apparatus indicated.

o A

@ B

(i) C

@) D 4]

Name a substance in the residue.

(1]

Name a substance which will remain in the distillation flask when all the
filtrate has evaporated. '

[

[1]
(i)  State the reading on the thermometer.
thermometer readihg _ | 1]
(i) Briefly explain what this shows about the substance at point X.
[Turn over



(e) Briefly explain the purpose of the cold water.

(1]

63) Name the natural cycle that is similar to the process of distillation.

(1]

‘Total marks [10]
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(2)

()

o

Use the Pcﬁodic Table to help you answer this question.,
Here are the symbols of four elements in the Periodic Table.
Na Ar As Rb
'.(i) Give the names of two of these elements that have similar chemical
properties.
(i)  Give areason for your answer to part (i).
[1] -
(iii) Drawa diggram to show the electronic structure of the Na atoiu.
s
(iv)  State the nﬁmbcrs of particles in the nucleus of the Na. atom.
[1]
Informanon about FOUR elements is given in the table. The Ietters are NOT
the symbols of the elements.
element W X | Y zZ
atomic uﬁmber 9 14 18 19

(i)  Write the electronic conﬁguranon of the atom for the elements W
and Y. !

.
Y - [2]

[Turn over
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(c)

- (ii)  Identify the element which is most likely to be the least chemically

reactive.

(1]

(iii) Draw a diagram using only the outer electrons to show the bonding
between element Z and chlorine.

[2]

State the valency of phosphorus in the molecule, P,0,.
(1]

Total marks [10]




< 8 Antacids can be used to neutralize excess stomach acid. Brand A antacid contains
the neutralizing agent magnesium hydroxide, Mg(OH),.

Brand A antacid reacts with HCl(aq) in the stomach

xHCl(aq) + Mg(OH),(s) — MgClL,(aq) + 2H,0 (1)
(8 ()  Name the substance in the equation that is in the form of molecules.

(1}

(i) Give the value of x which balances the equation.

11-

(iii) Name the chemical classification given to the magnesium compound
formed during the reaction.

(1]

The relative atomic masses of the elements in the equation above are as
follows: Cl, 35.5; H, 1; Mg, 24; O, 16.

(iv) Calculate the molar mass of the magnesium compound formed during
the reaction. '

[2]

(v) Use the data in (iv) to calculate the rm.m. of Mg(OH),.

(1]

7060 [Turn over
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(b)

Brand B antacid contains the acid neutralizing agent sodium hydrogen

carbonate.
(1) Write the chemical formula for sodium hydrogencarbonate.

(1]

(ii) Name the THREE products formed when this brand of antacid reacts
with stomach (hydrochloric) acid.

1

2

(3]

Total marks [1‘0]




4, Carbon is an important element in our lives and in industry. There are two crystalline
allotropes of carbon. :

(a) Explain the meaning of the term allotrope.

| 12
§ - (b) (i) - Draw the unit structure of both diamond and graptntc showing all the
bonds in each crystal.
|
|
diamond | graphite
| 21,
(ii) Name a material a jeweller woﬁd use to cut a diamond.
_ (1
(iii) Name the kind of bonding which exists in both crystals. B
(1]
(iv)  State ONE use of graphite.
| (1]
[Turn over
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(©

v)

(ii)

~10-

Name the physical property of graphite which makes it useful for your
answer.

(1]

Name ONE fossil fuel.
(1]

Name and write the formula of the poisonous gas produced by the
incomplete combustion of carbon.

name

(1]

formula
Total marks [10]



The diagram shows a power station emitting the gaseous waste product of the
burning of coal.

power station

(a) Name a pollutant produced Ey the power station.

(1]

(b) The aill_:omobﬂe’s exhaust pipe is not fitted with a catalytic converter.

Name a pollutant emitted by the automobile that is solublelin. water.

[1]
(c) Name the physical process that changes water vapour in the air into clouds.

m

(d)  Name the pollutaht,_ Y, released by the clouds onto the earth.

(1]

[Turn over



€)  Give the common name of the substance produced when the iron of the

automobile corrodes.

(1]

63 Write a word equation for the corrosion of the iron of the automobile.

_ 2]

(g  Name ONE otber effect pollutant ¥ has on the environment.
(11

(h) Some parts of thc automobilcllar‘c made with aluminium.

(i) Explain why the aluminium parts are not affected by the pollutant
found in Y as readily as the iron in the automobile. I

£l

(ii)  State one method of preventing the hulls of steel ships being corroded
by sea water.

(1]

Total marks [10]
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